Math 001-26, Quiz3 (R.5and R.6), Term 141, Instructor: Sayed Omar Pagel 18-Oct-14
SN ID NAME
Show all necessary steps for full marks.

. . . .. ac+ad +bc +hbd a’-b®
Question 1: (5 points): (R.5 Exercise 38): Simplify b2 2% 1 23D 1207
Solution:

38 ac+ad + bc + bd | a —b
a® —b? 2a* +2ab + 2b*
_alc+d)+blc+d) (a-b)a® +ab+b*)
T (a+bla—-b)  2Aa’+ab+bY)
_(c+dNa+b) (a-b)a" +ab+b*) c+d
C(a+bla-b)  2d*+ab+b’) 2

Question 2: (5 points): (R.5 Chapter R Test Question 21, Page 78):
5x°-9x -2 x'-3’-4
30x%+6x2  2x°+6x 7 +4x°

Perform the indicated operations:

Solution:

5x°—9x-2  x'-3x"—4

3000+ 607 225 +6x7 +4x°
C5xT-9x-2 2% +6x” +4x°
T 30036 xP 3?4
L (Bx+D(x=2) 2x°(x* +3x+2)
T e Gx+) (P-4
_Gx+Dx=2) 2+ +1)
C6Gx+D (x4 2(x=2)(x% +1)
2+ e+
CoxixP ) 3P

21.

3 1 ] 1/2
Question 3: (5 points): (R.6 Exercise 69, page 57): Simplify [16:] J (an J

m
Solution:
1/4 N2 _ 5 _1i9
_ Lom’ (g1 1614 314 gl/2,m1/2
69. \ i - T
n \om ) n m
—=1/2
_Emim R
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3 _1/2
o A1
:(2'“’)—'T
i il

3/4)=1 (=172}~
_ o341 (F12)(114)

3/4)-(474) (-2/4)~(1/4

_ A (374) (F274)-(174)
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Question 4: (5 points): (R.6 Exercise 94, page 58):
Factor (3r +1)_2'3 +(3r +1)1'3 +(3r +1)4/3, using the common factor (3r +1)_2/3 . Assume
all variables represent positive real numbers.

Solution:

94. Factor Gr+ D27 +Gr+ DY £ Gr+D*3,

: . 213
using the common factor (3r+1)7>'3.

Gr+D= +@r+ D"+ Gr+D*?
=Gr+ D2 1+ Gr+ 1)+ Gr+ 1)
=Gr—D7 1+ Gr+ D)+ Gr+ 1]
=Gr+ D77 (0+3r 41497 +6r +1)
=Br+ D70 +9r+3)
=3G3r+ )73 +3r +1)
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